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Dividing Whole Numbers Name:
Solve each problem. Answers
1) 2) 3)
4570 71254 5(318 1
2
3
4,
5.
4) 5) 6)
3380 71290 6374 o
7.
8.
0.
10.
7) 8) 9
6[332 9[908 3[119 -
12.
10) 11) 12)
71489 5546 5422
1-10 | 9283 75|67 [58[50] 4233|2517 |
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Dividing Whole Numbers Name: Answer Key
Solve each problem. Answers
) 1422 2) 3612 3) 6313
4 ’570 7 @ 5 ’m L 14272
4 0 0 , 3612
17 25 31
16 21 30 s 63r3
10 44 18
8 42 15 4. _ 12672
2 2 3 s 4113
9 12612 5) 4113 6) 62r2
3 % 7 % 6 ’ﬁ 6. 62r2
3 0 0 ;5512
08 29 37
6 28 36 g 100r8
20 10 14
18 7 12 0. 3912
2 3 2 0. 6916
7) 5512 8 100r8 9) 39r2 10911
6 @ 9 ’9708 3 ’Tw 11.
0 9 0 . 84r2
33 00 11
30 0 9
32 08 29
30 0 27
2 8 2
10) 6916 1) 109n 12) 84r2
7/489 5546 5422
0 5 0
48 04 42
42 0 40
69 46 22
63 45 20
6 1 2
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